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AT SEH XL (BHBES/M6IET - =) 75,787,300 88,223,738 N 12,436,438
= 8,668,600
= 52,950,000
Dl 50,000
[==4 14,118,700
e e Rep Nyl 9,725,700 15,608,600 N5,882,900
= 8,038,000
pl 50,000
o= 1,637,700
MEHOI M =S RAALS 7,232,000 13,700,000 6,468,000
= 6,660,000
== 572,000
403 XX SHMEN=0IH 7,232,000 13,700,000 6,468,000
= 6,660,000
< 572,000
01 ANXISHMAEEX 7,232,000 13,700,000 26,468,000
CIMEfSIE SR 7,232,000
= 6,660,000
< 572,000
QUSIHAMSHI EQA N2 AL 1,543,000 1,792,000 A 249,000
=2 1,378,000
= 165,000
403 XX SHHMEN=0IH 1,543,000 1,792,000 A249,000
= 1,378,000
== 165,000
01 RXISHMA2Ex 1,543,000 1,792,000 A249,000
CUSIHARHIE S K2 AHY 1,543,000
= 1,378,000
< 165,000
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01 ZAaZ 7,000 8,000 A 1,000
0222 )| 2L =S REAl & 7,000
307 QI2to| A 10,000 10,000 0
05 BI+REZ 10,000 10,000 0
M AHIZ 2 E D1 E &AL 10,000
2EFHELEAUALHAL2FA 60,200 62,600 A2,400
201 Lt AH| 27,200 29,600 A2,400
01 AF222|H] 17,600 20,000 A2,400




oF
R’

ok
o)

o (] (@) () () o o o o o o o o o
o (@) (@) [} [} [«] o o [«]
=1 0 0 0 0 S| |S =1
AD 3 X X - - SRS o
E
-
o o o o o (e} () () (e} (e} (e} () (e} (e}
[} o [«] [«] o
«© o (] (] o
o © | o 6| o
Al [aN]
H3r
m<l
RI=
o o o o o o o o o o o o o o o o o O o O O o o O O O O o O o OO o O o o o o o o o
(e} o o o o (@] (@] [} (@) (] o o o o o o o O o O O o o O O O O o O o OO o O o o (] o o o o
NSNS S I ¥ ©0 oo ooldofcogmbmn © 5SS omOHBHHBH|HOBS|SIES S S S S
M~ IO AN N O o [e) BN e) o)) [e6] QO Lo 0 w0 o O N V|0 M M M O O u wu w - —| - - — [aN] Al o O O [NV
Al [aN] [V} 0 w0 < < < < — — M ™M (@] Lo Lo Lo Lo
O [aV] (e} Al Al
3
<
=
= = =~ ~ = N N
or =
X0 50 a0
) <k 70
. = =4
=] ulo 0 ) 5 Rr
o R ok Al ) o oD =
= = ol ] Pal Pd 3l + =] 0
Ik 0 50 W ol K KF - Ho = n
= 3l F oF s o ok ol o ) = M
. ok Ul o ok 3D 30 oy = r Kr H
- o™ = 0 ey s | I = ok i
= ol @ S = Ell RA|m ) = o 1 = =
) Hw W= = R KE R | A o L g - R =
F |= oo il <+ = Uk <+ ok <k | w0 E=I) 70 0 &l %ﬂ T Ok K
5 | do oo A T B OF 3| = |3 3| #o =] T W K o ) 70 S|lD|= @ 5o
Ok 4r <F RU MW B0 TOAD 5 < | r R <] 80 0 o o<k & B0 T & o o F B |m < M 80 o
SR TR VA = TR I ¢ S M| Kk | KF Mo | o O A B o of oo = 30 g | %[ D W R
R lov OO W O a0 O M O|s|= rofor |z folak 5 okt O O &= O ) 5 o Rlzlor v O M Mo
R |O O O o O S Oler|< O] ol = O O = mr O M%MD fo O
° oV ol | = ™| » = — — oV — wlsls al
- o o (e} O o |; o (e) o o o (e} [}
X « oV o « « ~ | X
I+ Kk =




SN 22D
I AU DY ZH(BYRS/AGAE - 2 F)
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SH-EH . C(BH) - NRAY - BES O] Ak 4 il b o bRz
SIEEEEEEET] 2,000
207 1oty 100,000 0 100,000
NEEEET 100,000 0 100,000
(U S+ MEHAS0EISE LI 2L BY 100,000
307 BI2HOIE 250,000 0 250,000
02 PIAMBE 250,000 0 250,000
ONHSEYRI=L3 120,000
BEETEAPEPiE 130,000
BN ERALSE 221,500 0 221,500
306 213 221,500 0 221,500
01 203 221,500 0 221,500
OUZAS2BEZAAH TS 221,500
LT AL 66,061,600 72,615,138 £6,553,538
2 630,600
z 52,950,000
= 12,481,000
ASHESDHEIT AL 87,100 92,548 A5,448
2 87,100
403 XX EHHIS KH2 0l ® 87,100 92,548 A5,448
2 87, 100
01 RXISHA2RE 87,100 92,548 A5,448
OY4+RA85 TR AL 87,100
2 87,100
INEMBLBNRALE I BAZ AL 239,800 271,050 A31,250
2 184,500
= 55,300
403 XX SIS XH2 0l ® 239,800 271,050 A31,250
2 184,500
= 55,300
01 KXISHX=EE 239,800 271,050 A31,250
I EMESZHPEC 2 DAY 239,800
2 184,500
= 55,300
HASS SUHZ4+2 WYX 466,700 581, 100 A 114,400
2 359,000
= 107,700
403 TIXIEHAIS KH 0| 466,700 581, 100 A 114,400
2 359,000
= 107,700
01 KXISHH X=X 466,700 581, 100 A 114,400
OHASESUHS 20 466,700
2 359,000
= 107,700
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M- E3H - S2(3H) - MR A 4= &hoh Ol Ak O BlusZ
RN Hrne2 90,000 90,000 0
308 XXl EHASOl 90,000 90,000 0
02 H4nea 90,000 90,000 0
OxZHas 90,000
O EMEBESHY 41,020,200 43,963,000 12,942,800
= 37,805,000
= 3,215,200
403 XHXI SRS R 41,020,200 43,963,000 12,942,800
= 37,805,000
= 3,215,200
01 XHXI EHRlI X 41,020,200 43,963,000 2,942,800
mECEE 41,020,200
= 37,805,000
= 3,215,200
ARBETAILINE 7,211,000 9,862,583 £2,651,583
= 6,400,000
= 811,000
403 XHXI SRS R 7,211,000 9,862,583 12,651,583
= 6,400,000
= 811,000
01 XHXI EHAlI Xt 7,211,000 9,862,583 A2,651,563
OARRAEE 7,211,000
= 6,400,000
= 811,000
SAXIC AR 544,100 4,175,800 A3,631,700
= 482,000
= 62,100
403 XHXI SRS K 544,100 4,175,800 £3,631,700
= 482,000
= 62,100
01 XHXI EHRlI Xt 544,100 4,175,800 A3,631,700
BEFPU=IN 544,100
= 482,000
= 62,100
DEHSALMT 465,200 112,857 352,343
= 412,000
= 53,200
403 XX A S KH= 0l & 465,200 112,857 352,343
= 412,000
= 53,200
01 RtXISHR2EE 465,200 112,857 352,343
OnEZ+He 465,200
412,000
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AT AUFHAC AL IS 10,201,000 7,549,700 2,651,300
= 7,851,000
= 2,350,000
403 XX SHAHSA=01H 10,201,000 7,549,700 2,651,300
2 7,851,000
= 2,350,000
01 RXESMA2EX 10,201,000 7,549,700 2,651,300
OaC 2 AR HACANAEAS 10,201,000
= 7,851,000
= 2,350,000
Kl gtabs O SFAIS 4,000,000 3,400,000 600,000
403 KX M SK=01H 4,000,000 3,400,000 600,000
01 XIXIEMAEEx 4,000,000 3,400,000 600,000
OXEa-CAENEY =2 A 4,000,000
S 1,380,000
OA&EEZ2I 22 Y 740,000
OL-FZIHA ORI, 2 44) 1,880,000
OtSa=S A4 Jid 2 EAld X 1,600,000 1,500,000 100,000
403 KXIEHMS A =201HA 1,600,000 1,500,000 100,000
01 XAXSHHMA2EEXR 1,600,000 1,500,000 100,000
C0tSa=SAENEYLEAIE 1,600,000
T ANE2ALGREFA 16,500 16,500 0
201 LBet249h| 5,000 5,000 0
01 AF22teltl 4,000 4,000 0
g gt~EH| 4,000
OAMNRESFAALROUSHES 4,000
02 =323l 1,000 1,000 0
O222=2HA 1,000
Ost= 4ot &2l 1,000
202 O HI 11,500 11,500 0
01 =2LHAHI 11,500 11,500 0
O=S A2 g 2= 0 11,500
2 SEHE S EY 120,000 0 120,000
207 AR 120,000 0 120,000
01 Ad2E9H| 120,000 0 120,000
22 E8gHE2HEY 120,000
BEIIZANE HE(BEEBS /M0 E - +E) 311,620,500 285,534,382 26,086,118
= 290,918,000
B = 20,702,500
ot AlE 22| 291,969,500 262,974,500 28,995,000
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= 273,362,000
= 18,607,500
stexelZes 89,665,000 75,996,000 13,669,000
2 77,953,000
= 11,712,000
403 RXISHSKHZ0IH 89,665,000 75,996,000 13,669,000
2 77,953,000
= 11,712,000
01 XXISHAZ2E 89,665,000 75,996,000 13,669,000
BEESEIEEE 89,665,000
=2 77,953,000
= 11,712,000
SterelZa s (EAALITA) 3,509,000 8,335,000 4,826,000
2 2,892,000
= 617,000
403 RXISHS K01 3,509,000 8,335,000 4,826,000
2 2,892,000
= 617,000
01 XIXISHAZ X 3,509,000 8,335,000 14,826,000
Dot X2l S &S (S A LI 3,509,000
=2 2,892,000
= 617,000
SterelZe = (2K 2,583,000 5,019,000 £12,436,000
2 2,360,000
= 223,000
403 RXISHSKHZ0IH 2,583,000 5,019,000 A12,436,000
2 2,360,000
= 223,000
01 XIXISHAZ X 2,583,000 5,019,000 A 12,436,000
BEESEIEE TGP 2,583,000
2 2,360,000
= 223,000
Sh 21 BHI ALY 58,357,000 70,080,000 A11,723,000
= 58,357,000
403 XX SHHSAHZO0IH 58,357,000 70,080,000 A 11,723,000
= 58,357,000
01 XXISHAZ2E 58,357,000 70,080,000 A 11,723,000
BEESPIE-T] 58,357,000
= 58,357,000
S 21 B HI (X} 6,230,000 1,590,000 4,640,000
= 6,230,000
403 RXISHSKHZ0IH 6,230,000 1,590,000 4,640,000
= 6,230,000
01 XHXISHH A2 X 6,230,000 1,590,000 4,640,000
[15H4 2 A ZHI (21 X}) 6,230,000
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| =2 6,230,000

UAMR2EIATAL BE 47,064,000 18,756,000 28,308,000
=2 45,539,000
[=4 1,525,000

403 XtXISHS K201 & 47,064,000 18,756,000 28,308,000
=2 45,539,000
[= 1,525,000

01 RNXSHHAEE=x 47,064,000 18,756,000 28,308,000
OHARGSCAIEEE 47,064,000
=2 45,539,000
[= 1,525,000

oGl a2l & AR 10,274,000 9,961,000 313,000
=2 9,355,000
[= 919,000

403 K XISHSK=20|& 10,274,000 9,961,000 313,000
=2 9,355,000
[= 919,000

01 RXSHHKEEX 10,274,000 9,961,000 313,000
EEI=E NS RS 10,274,000
2 9,355,000
[= 919,000

SHE0I26:C &Yl 17,213,000 14,842,000 2,371,000
=2 15,783,000
[= 1,430,000

403 KtXISHHS K20l & 17,213,000 14,842,000 2,371,000
=2 15,783,000
[= 1,430,000

01 RXSHHKEEx 17,213,000 14,842,000 2,371,000
Os0 =026t S = 17,213,000
=2 15,783,000
[= 1,430,000

SHE0I26t4+ S XU (D) 3,457,000 804,000 2,653,000
=2 3,138,000
[= 319,000

403 K XISHS K20/ & 3,457,000 804,000 2,653,000
=2 3,138,000
[=4 319,000

01 RXSHHKEEx 3,457,000 804,000 2,653,000
OsHE=0tSst=S &I (914 3,457,000
=2 3,138,000
[= 319,000

StaXM2I& SX HAzl2 Ast 13,671,000 15,321,000 A1,650,000
=2 13,671,000

403 XtXISHS X201 A 13,671,000 15,321,000 1,650,000
=2 13,671,000
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01 AXESHMA2EE 13,671,000 15,321,000 A 1,650,000
Oot=XHel & 8At e 34t 13,671,000
= 13,671,000

ot HEA |23 &S 10,420,000 11,175,000 755,000
= 10,420,000

403 XX SHHSK=201H 10,420,000 11,175,000 A755,000
= 10,420,000

01 XXIEMAEE=x 10,420,000 11,175,000 A755,000
CJole=Z HS AR 2 S4HE 10,420,000
= 10,420,000

otEZ HAHIASE (S HI) 950,000 950,000 0

403 NXISHHS K20l 950,000 950,000 0

01 RXSHMA2E X 950,000 950,000 0
Cok==20{ & Hi 950,000

St HHIBTLAI AR X 2 20,391,000 11,141,000 9,250,000
= 20,391,000

403 XX SHH S XH= 0| F 20,391,000 11,141,000 9,250,000
= 20,391,000

01 XXISMAZ2E =X 20,391,000 11,141,000 9,250,000
CIol=2HBTLAIZ A U S X = 20,391,000
= 20,391,000

otx=Xel=MOolsSAIS 7,945,000 7,130,000 815,000
= 7,273,000
== 672,000

403 XX SHHSK=201H 7,945,000 7,130,000 815,000
= 7,273,000
= 672,000

01 AXESHMA2EE 7,945,000 7,130,000 815,000
Oddt=Xel=THO0I 2 At 7,945,000
= 7,273,000
= 672,000

ot A2 EREA 30,500 32,500 A 2,000

201 Yer2o| 8,500 8,500 0

01 AP 22l 7,500 7,500 0
O et~SH| 2,500
OMEBEEFULRUASHES 2,500
g4 5,000
Ootx=E 2R USARJ] LS AIE 5,000

02 S=2494l 1,000 1,000 0
(2222 HA 1,000
Oet=3t&AE 3| 1,000

202 044l 12,000 14,000 A2,000
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01 =W 12,000 14,000 A2,000
Lot Al 22| S =& 0 12,000

307 S12t01& 10,000 10,000 0

05 2IRIRAES 10,000 10,000 0
Oast+E2edd2iay 10,000

oSN ot=XelZTMSE X 210,000 0 210,000

403 X HMSAH=01H 210,000 0 210,000

01 RXSHMA2E = 210,000 0 210,000
OB H e ZTUSE X (2, 25) 210,000

- EaXclAlg2e 19,651,000 22,559,882 A2,908,882
= 17,556,000
& 2,095,000

Helot=HMelAlIE & X X& 204,000 378,882 A 174,882
=2 204,000

403 XXM SA=201H 204,000 378,882 A174,882
= 204,000

01 RXSHMA2E = 204,000 378,882 A174,882
CIOHeIGH=X el Al & 204,000
=2 204,000

FEHMEANEES 1,392,000 2,626,000 A 1,234,000
= 1,392,000

403 XXM SA=01H 1,392,000 2,626,000 A 1,234,000
= 1,392,000

01 AXSMA2E = 1,392,000 2,626,000 A 1,234,000
OZ=delAdeEs 1,392,000
= 1,392,000

NE2EZSSHEAANEERAS 17,135,000 18,781,000 A1,646,000
= 15,940,000
& 1,195,000

403 XXM SA=01H 17,135,000 18,781,000 A 1,646,000
= 15,940,000
= 1,195,000

01 AXESHMA2E xR 17,135,000 18,781,000 A1,646,000
DIEEx33MelAld 17,135,000
= 15,940,000
= 1,195,000

SSHEY HEAS 900,000 774,000 126,000

403 XX SHMSAH20lH 900,000 774,000 126,000

01 RXESHMA2E = 900,000 774,000 126,000
OBS5E AN M 900,000

S SEAXANE 2SAEY 20,000 0 20,000
= 20,000
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2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
403 XXISHSK=0lE 20,000 0 20,000
= 20,000
01 MHXSHA=2EX 20,000 0 20,000
OZSHASHAANLRE 20,000
= 20,000
Y2 AH| (222l 2)(JIEHIIEH 49,200 51,800 A2,600
Jl=A| 49,200 51,800 A2,600
Jl=AH| 49,200 51,800 22,600
201 LEt2HH| 27,700 25,300 2,400
01 AFRZ2lH] 27,700 25,300 2,400
O gt 2H| 18,700
ONREESSUASTAEZEFY 15,700
OFEBHAIMAARNZROE 3,000
BEEL] 9,000
OFZEBHAR =R ZAIH| 9,000
202 OfH] 21,500 26,500 A5,000
01 2oy 21,500 26,500 A5,000
O 8 MU AGHSEAFY = A0 21,500
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